

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$10,159,901.67	\$10,159,901.67
Withdrawals	\$0.00	\$0.00
Transfers In/Out	\$0.00	\$0.00
Income	\$47,783.14	\$47,783.14
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$218,150.32)	(\$218,150.32)
Unrealized Gain/Loss	\$9,807.91	\$9,807.91
Ending Balance	\$9,999,342.40	\$9,999,342.40

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.58%)	N/A	N/A	N/A	N/A	N/A	N/A	(1.58%)	05/01/2023

GLEN CARBON POLICE PENSION FUND

Fund Name: GLEN CARBON POLICE PENSION

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$10,159,901.67	\$10,159,901.67
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$10,097,770.84)	(\$10,097,770.84)
Income	\$34,103.54	\$34,103.54
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$96,234.37)	(\$96,234.37)
Unrealized Gain/Loss	\$0.00	\$0.00
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	0.000	0.000
Unit Purchases from Additions	1,015,990.167	1,015,990.167
Unit Sales from Withdrawals	(1,015,990.167)	(1,015,990.167)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$10.000000	\$10.000000
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	05/01/2023

GLEN CARBON POLICE PENSION FUND

Fund Name: Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	\$114,764.72	\$114,764.72
Income	\$12,312.79	\$12,312.79
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$121,941.79)	(\$121,941.79)
Unrealized Gain/Loss	(\$5,135.72)	(\$5,135.72)
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	0.000	0.000
Unit Purchases from Additions	1,119,212.322	1,119,212.322
Unit Sales from Withdrawals	(1,119,212.322)	(1,119,212.322)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.022212	\$9.022212
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	05/04/2023

GLEN CARBON POLICE PENSION FUND

Fund Name:

IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary: Current Period Year to Date

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	\$9,983,006.12	\$9,983,006.12
Income	\$1,366.81	\$1,366.81
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	\$25.84	\$25.84
Unrealized Gain/Loss	\$14,943.63	\$14,943.63
Ending Balance	\$9,999,342.40	\$9,999,342.40

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	0.000	0.000
Unit Purchases from Additions	1,016,515.554	1,016,515.554
Unit Sales from Withdrawals	0.000	0.000
Ending Units	1,016,515.554	1,016,515.554
Period Beginning Net Asset Value per Unit	\$9.820810	\$9.820810
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	N/A	N/A	N/A	N/A	N/A	N/A	N/A	0.16%	05/25/2023

Statement of Transaction Detail for the Month Ending 05/31/2023

Trade Date	Settle Date	Description	Amount	Unit Value	Units
GLEN CARBON POL	ICE PENSION				
05/01/2023	05/02/2023	Contribution	8,144,831.27	10.000000	814,483.1270
05/01/2023	05/02/2023	Contribution	2,015,070.40	10.000000	201,507.0400
05/04/2023	05/05/2023	Transfers Out	(10,097,770.84)	9.938847	(1,015,990.1670)
Transition Pool					
05/04/2023	05/05/2023	Transfers In	10,097,770.84	9.022212	1,119,212.3218
05/25/2023	05/26/2023	Transfers Out	(9,983,006.12)	8.919671	(1,119,212.3218)
IPOPIF Pool					
05/25/2023	05/26/2023	Transfers In	9,983,006.12	9.820810	1,016,515.5542